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Marks: 100

_______________________________________________________________________

This paper consists of four sections.

Section A – Reading

20 marks

Section B – Writing

30 marks

Section C – Grammar

20 marks

Section D – Literature

30 marks

Instructions:
1. Attempt all questions.

2. Do not write anything in the question paper.

3. All the answers must be correctly numbered as in the question paper and written in the answer sheet provided to you.

4. Attempt all questions in each section before going on to the next section.

5. Read each question carefully and follow the instructions.

6. Strictly adhere to the word limit given with each question.  Marks will be deducted for exceeding the word limit.

SECTION A – READING

A.1 Read the following poem carefully:




(8 marks)

OZYMANDIAS

I met a traveller from an antique land

Who said: Two vast and trunkless legs of stone

Stand in the desert.  Near them, on the sand,

Half-sunk, a shattered visage lies, whose frown,

And wrinkled lip and sneer of cold command,

Tell that its sculptor well those passions read

Which yet survive, stamped on those lifeless things,

The hand that mocked them and the heart that fed,

And on the pedestal these words appear,

“My name is Ozymandias, king of kings,

Look at my works, Ye Mighty and despair!”

Nothing beside remains.  Round the decay

Of the colossal work, boundless and bare

The lone and level sands stretch far away.

A.1.1 Below is given the summary of the poem.  Complete it by writing the missing word/phrase.  Write your answers against the correct blank number in your answer sheet.











(4 marks)

Once the poet met a a) _____________ from an old country.  He told the poet that he had seen two b) _________________ legs of king’s statue in the desert.  The broken face lay c) _________________ in the sand near the pedestal.  The face had look of d) _________

on it.  Clearly the e) ___________ had done his job well.  The words on the pedestal showed that the name of the king was f) __________________.  He proudly called himself g) _________________________.  But now all his work is lost.  There is nothing but h) ______________________________ all around.

A1.2 The poet has used some expressions in the poem to suggest something to the reader.  Given below there are some suggestions in circles.  Choose the suggestion that fits the expression in the table.  Write your answer against the correct blank number in your answer sheet.








(3 marks)

	Expression from the poem
	To suggest that

	Sneer of cold command
	The king looked down upon others with contempt.

	King of kings
	a) 

	Nothing beside remains
	b)

	Boundless and bare
	c)
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A.1.3 What do you think ‘antique land’ stands for?  Choose from the suggestions given below and write your answer in the answer sheet against the correct blank number.










(1 mark)

antique land:
i) country that no longer exists



ii) country with an old civilization



iii) country where antique statues etc. are found
A.2. Read the following passage carefully:




(12 marks)

Scientists are getting ready for a big bang in outer space when a comet smashes into the planet Jupiter with the force of up to one million atomic bombs.

Two spacecrafts are expected to photograph the momentous event in July 1994 – the German-American Probe Galileo and NASA’s Voyager 2, which has been in space for 17 years.  Other satellites and land-based observatories will provide astronomers with information on the aftermath of the collision when the affected side of the giant planet turns towards earth.

Just over a year ago, the comet had a close encounter with Jupiter and was torn into 20 pieces by its gravitational pull and scattered across a distance of 170,000km.

The badly mauled comet – a concentration of gas and dust that follows a stretched out orbit around the sun – was sighted in March this year.  It was named Shoe-maker-Levy 9 after the astronomers who discovered it.

The Galileo Probe is likely to have the best view of the projected collision.  The craft was launched from the shuttle Atlantis in October 1989 and is now on direct course for Jupiter, which it is due to reach in December, 1995.

According to Dr Torrence V. Johnson of the Jet Propulsion Laboratory in Pasadena, California, Galileo will be in a position to observe parts of Jupiter’s dark side and photograph the impact of the comet.  Voyager 2, which flew past Jupiter in 1979, will see the planet only as a dot of light, but its sensors and cameras will be able to record details of the collision from changes in luminosity.

Jupiter is the largest planet in the solar system.  It takes 11.9 years to complete one journey around the sun, but its axial rotation period is very short, less than 10 hours.

The Hubble Space telescope has been assigned to monitor Shoemaker-Levy 9 when it emerges from behind the sun later this month.  Astronomers will use the information to make more precise calculations of its size and orbit.

Hubble provided detailed photographs of pieces of the comet last year prompting scientists to compare it to a string of pearls.

All 20 pieces of the comet were shrouded in a cloud of gas so that exact measurements of its size were not possible.  Scientists estimate that none of the individual chunks is more than 5 km in circumference.

The comet is predicted to crash into Jupiter over a six-day period around 21 July.  Most likely it will break up into even smaller parts before impact, with debris scattered over an area of 1.6 million km.

Some astronomers believe that the mutilated comet is really an asteroid or mini-planet, most of which are to be found between Jupiter and Mars.

Scientists have never before witnessed the collision of a celestial body with a planet, and are unsure exactly what will happen.

One theory is that the chunks will explode with the power of 100 megatonnes of TNT when they enter Jupiter’s atmosphere and reach a point where the pressure is equivalent to that at sea-level on earth.

On 30 June, 1908, a comet or meteorite with a mass of between 100,000 and one million tonne exploded over the central Siberian Taiga.  The blast, 1,500 times more powerful than the bomb dropped in Hiroshima, destroyed an area of woodland 40 km by 50 km large.

Some astronomers are of the opinion that parts of the comet could penetrate deep into the surface of Jupiter if they can form a protective shock wall against friction heat.

In any case, the debris is expected to tear holes the size of a country like Spain in the planet’s famous cloud belts and glow brightly when it disintegrates in the planet’s atmosphere.

The event could be compared to what happened on earth some 65 million years ago when a heavenly body crashed down on our planet, leading to the extinction of the dinosaurs and many other animals.

A.2.1 On the basis of your reading of the passage complete the following sentences.  Write the answers in your answer sheets against the correct blank number. 











(5 marks)

a) The ‘momentous event’ referred to in line 3 is ________________________________

b) The spacecrafts scheduled to photograph this event are the ______________________

c) During a close encounter with Jupiter the comet was __________________________

d) The comet is named ____________________________________________________

e) Scientists believe that the broken comet really is ______________________________

A.2.2 Write the possible effects of the collision of the comet with Jupiter in your answer sheets against the correct blank number.



(3 marks)

a) _____________________________________________________________________

b) _____________________________________________________________________

c) _____________________________________________________________________

A.2.3 Find words/phrases in the passage which mean the same as the following from the lines indicated.  Write the answers in your answer sheets against the correct blank number.







(4marks)

a) after effect, consequences (lines 1 to 10)


______________________

b) circular movement
(lines 20 to 30)


______________________

c) belonging to the sky (lines 30 to 40)


______________________

d) damaged, deformed or mis-shapen (Lines 30 to 40)
______________________

SECTION B – READING
B.1 Mr. B. Malik is the Manager of Kuber Chemicals Ltd.  He has made the following notes about Mohan Mathur, a candidate for a job.  He asks his personal assistant to write a letter to Mr. Mathur.  Complete the letter using information from the notepad below.  Write your answers in your answer sheets against the correct blank number.  (5 marks)


[image: image2]
Kuber Chemicals Ltd.
B-136, Andheri East, Mumbai
Mr. Mathur

Lajpat Nagar,

New Delhi-24

20 February, 2006

Dear Mr. Mathur,

With reference to your application, we are pleased to a) ____________________ for the interview of the above mentioned post.  Your interview b) _______________________.  You are requested c) _____________________________________.  Please note that no TA/DA will be paid by the company and that you are responsible d) ________________.

Kindly e) _______________________________________________.

Yours faithfully,

B.Malik

Manager

B.2. You are Ashok Kumar working in a private firm in Mumbai.  You have to go home on leave on the 26th of February. But you are unable to do so as you have some urgent work to do.  You are not sure of the date of your arrival.  Send a telegram to your parents in Calcutta using not more than 20 words.  Copy the format of the telegram from the question paper in your answer sheet.





(5 marks)
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B.3. You are a member of your School’s Social Service League.  You have decided to visit a nearby village from your school on a holiday to speak to the villagers how smoking is a silent killer of life, besides being a drain on the limited income of an average income earner.  Prepare your speech to address them.  Among other points you can also mention, how the vital organs are getting affected due to smoking, how it is harmful even to those who do not smoke but happen to be seen with smokers and how by various methods we should educate people on the dangerous effects of smoking.  Do not exceed 200 words.







(10 marks)
B.4. You are Vasant.  You live in Pocket IV, Seva Vihar, Suraj Nagar.  Near your locality there is a pond into which all the drains of the nearby localities bring filth and garbage.  This has resulted in a terrible stink all around the area.  Moreover, because of the stagnant water, mosquitoes and flies breed there, making it a big health hazard.  Write a letter to the Editor of a daily newspaper drawing the attention of the municipal authorities to this.  You may refer to the unit on ‘Environment’.  The body of the letter should not exceed 150 words.








(10 marks)
SECTION C – GRAMMAR

C.1. In the passage given below, one word has been omitted in each line.  Write the missing word along with the word that comes before and the word that comes after it in your answer sheet against the correct blank number.  Ensure that the word that forms your answer is underlined.






(3 marks)
The following Sunday Lencho came bit earlier


e.g. came a bit
than usual to ask there was a letter for him.  It


a) ____________

was the postman himself handed the letter to



b) ____________

him while the postmaster, experiencing



c) ____________

contentment a man who has performed a good


d) ____________

deed, looked on from the doorway his office.


e) _____________

Lencho took letter and went away.




f) _____________

C.2. The following passage has not been edited.  There is one error in each line.  Write the incorrect word and the correction as given in the example against the correct blank number in your answer sheets.  Also write the correct word in your answer sheets as shown.









(4 marks)
Proteins is the main solid part in



e.g. is…….are
all living cells.  They are find in milk 



a) ______________

meat and fish.  They are a must to the



b) ______________
body to enable it to build in new




c) ______________

cells or repair old ones.  For this 




d) ______________

reason grow children need more




e) ______________

proteins than adults.  As children are more active

then adults and use






f) ______________

more energy for his weight





g) ______________

they need a lot of energy give food.




h) ______________

C.3. Read the following instructions and complete the passage that follows.  Do not add any new information.  Write only the answer against the correct blank number in your answer sheet.








(5 marks)
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A ripe banana is taken.  It is a) __________________.  Then some sugar b) ___________

in a mixer.  To this the banana slices c) __________________________________.  Then a glass d) _______________.  Last of all, a few ice cubes e) _______________________.

C.4. Rearrange these jumbled sentences into meaningful sentences.

(4 marks)
a) are / treasures / the / of / Vedas / great / knowledge.

b) scientific / in / approach / them / the / presented / regarding / is / phenomena / amazing / natural / the.

c) unfortunate / is / golden / it / forgotten / that / we / principles / by / set / them / have / the.

d) proceeding / we / towards / are / self-destruction.

C.5. Read the conversation given below carefully, then complete the sentences that follow without adding any new information.  Write your answers against the correct blank number in your answer sheets.





(4 marks)

The lady of the house told Jiggs, her husband a) _________________________________

Jiggs replied b) _______________________________________________.  She enquired of him c) ________________________________________________________.  To this, Jiggs replied d) ________________________________________________________.

SECTION D – LITERATURE

D.1. Read the given extract and answer the questions that follow.  Write the answers in your answer sheet in one or two lines only.  Remember to number the answers correctly.











(4 marks)

I steal by lawns and grassy plots.

I slide by hazel covers.

I move the sweet forget-me-nots

That grow for happy lovers.

a) Name the poem and the poet of the above lines and say why he used the words ‘steal’ and ‘slide’ to describe the brook’s flow here?



(2 marks)

b) Who do you think throws the sweet forget-me-nots into the brook?
(1 mark)

c) What places does the brook pass by here?




(1 mark)

D.2. Read the extract given below and answer the following questions.  Write the answers in your answer sheet in one or two lines.  Remember to number the answers correctly.








(4 marks)

Alone she cuts and, and binds the grain:
And sings a melancholy strain:

O listen! For the vale profound

Is overflowing with the sound.

a) Who is being addressed by the poet in the words ‘listen’?  What does he expect of them?









(2 marks)

b) What is the reaper doing beside reaping and binding the grain?

(1 mark)

c) Explain “Is overflowing with the sound”




(1 mark)
D.3. Why are Lord Ullin’s daughter and her lover trying to escape?  What fate do they finally meet?  Answer in about 100 words.




(5 marks)
D.4. Read the extract given below and answer the questions that follow in your answer sheets.









(5 marks)

“ You told him she was feeling poorly did you?  And so my brother is to be kept out of his bed, and go without his supper because you told him she was feeling poorly.  There’s gratitude for you!”

a) Who is the speaker?  To whom are these words addressed?

(1 mark)

b) Why is the speaker in such a foul mood?




(3 marks)

c) Explain – ‘There’s gratitude for you!’




(1 mark)

D.5. State any four reasons to explain why a bond had developed between Arun and the woman on Platform No.8.  Your answer should not exceed 75 words.
(4 marks)
D.6. You are John Perkins.  Your wife Katy has gone to meet her sick mother.  Write a diary entry about how you feel in Katy’s absence and how you resolve to make amends for ignoring her in the past two years.




(8 marks)

*********************************
The state was huge but without decoration





Ozymandias was an emperor





Ozymandias was great because of his human qualities





All the work of mighty Ozymandias has vanished





There was nothing to be seen except sand





Ozymandias’ contempt was unlimited





There was nothing except the statue in the vast desert





The limitless and lifeless desert lay all around





Mathur Mohan


Selected for interview	-	Date: 15.3.06


-	10.20a.m.


-	Room 315, Hotel Maurya


-	Bring certificated (original) 


-	Recent photos (2) passport size





No TA/DA


No arrangement for accommodation.


Confirm by letter/telephone			





Receiver’s name:


Receiver’s address:























Sender’s name:





(Not to be telegraphed)


Sender’s address:





HOW TO MAKE A BANANA SHAKE


Take a ripe banana.


Peel it and slice the banana.


Grind some sugar in a mixer, add banana slices and churn.


Now add a glass of cold milk to this and churn again.


Add a few cubes of ice and serve.
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